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The figures in the margin indicate full marks.

Section-A
1. Answer any ten questions: 2x10

(a) “Demand for petrol falls as its price rises”.— Justify whether the statement is positive or normative.

(b) Explain the following policy decision in terms of equity-efficiency perspective :
“The Madhya Pradesh government waived the loans of the farmers as they had suffered losses”.

(c) Other things determining demand remaining constant, Titli’s income declines and, as a result, she buys
more spinach. What kind of good is spinach? What happens to Titli’s demand curve for spinach?

(d) What is the rationale underlying a positively sloped supply curve?
(e) What is the role of government in a market economy?
(f) What is natural monopoly?

(8 “A linear demand curve will necessarily have different elasticity along the curve”.— Examine
whether this statement is true, false or uncertain.

(h) A painting by Van Gogh or a print of the same painting by Van Gogh, which would you expect to
have more elastic supply? Why?

(1) How does subsidy on a good affect the price paid by buyers and the price received by sellers?

() What is the law of equimarginal utility?

(k) Plot the indifference map for a person between risk and return who does not like risk in investment
but likes the return from it.

() If the cross price elasticity of demand between X and Y is positive, determine the relationship
between X and Y.

(m) How does the value of price-elasticity of demand affect total revenue?

(n) Bittu and Rani each drive to a petrol pump. Without checking the price of petrol, Bittu asks for
25 litre of petrol and Rani asks for X 2,000 worth of petrol. Find the price elasticity of demand for
petrol of Bittu and Rani.

(o) Explain the shape of the indifference curve when marginal rate of substitution (MRS) is rising
g.

Section-B

2. Write short notes on any three of the following: 5x3
(a) Elasticity and burden of tax incidence between buyer and seller.
(b) Walrasian and Marshallian Stability of Equilibruim.
(¢c) Common Property Resource and Public Good.
(d) Efficiency of Market in organizing economic activity,

(e) Cardinal utility approach and Ordinal Utility approach.
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Section-C

Answer any three questions.

3. Suppose a worker in India can produce 15 computers or 5 tons of grain per mopt-h. Suppose a worker
in Bangladesh can produce 4 computers or 4 tons of grain per month. For simplicity, assume that each

country has only one worker.
(a) Graph the production possibilities frontier for each country.

(b) What is the opportunity cost of 1 computer in India? What is the opportunity cost of 1 ton of grain
in India?

(c) What is the opportunity cost of 1 computer in Bangladesh? What is the opportunity cost of 1 ton
of grain in Bangladesh?

(d) Which country has the absolute advantage in producing computers? Which country has the absolute
advantage in producing grain?

(¢). Which country has the comparative advantage in producing computers? Which country has the
comparative advantage in producing grain?

(f) Each country should tend toward specialization in the production of which good? why?

(g) Explain the range of relative price of computers in terms of grain for which both countries would
benefit? 2+1+1+1+142+2

4. (a) How do the following policies work to affect the demand for cigarettes?
(i) Mandatory health warnings on cigarette packages.
(i) Imposing tax per packet of cigarette.

(b) Tomato ketchup is a complement for fish fry. If the price of fish rises, using supply-demand diagram

show what happens to the equilibrium price and quantity in the market for ketchup, for tomatoes,
for tomato juice, for orange juice. 2+(2+2+2+2)

5. (a) Using the classification of excludability and rivalry in consumption, explain which category the
following goods fall into
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(i) Hilsa fish in river Ganga

(i) Vidyasagar Setu (2nd Hooghly Bridge)
(iii) Rabindra Setu (Howrah Bridge)
(iv) Fireworks display.

(b) Tl?e government imposes < 1,000 tax on airconditioners. Discuss whether the price of airconditioner
will increase more than, less than or equal to ¥ 1,000 in

(1) Winter

(i) Summer.
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(c) Consider a market with the following demand and supply curves

6. (a)

(b)

(c)

7. (a)

(b)

Qs = 2P
QP =300-"P

(i) What will be the equilibrium price and quantity?

(if) Suppose that a tax of “T” is placed on buyers, so the new demand equation is
QP = 300 — (P+T)

What will be the price received by the sellers, the price paid by the buyers and the quantity
sold? 4+(1+1)+(1+3)

Suppose the government imposes minimum wage above the equilibrium wage in the market for
unskilled labour. Using supply and demand diagram show the market wage rate, number of workers
employed and number of workers unemployed in the market for unskilled labour. Also show the total
wage payments to unskilled labour.

Now suppose the government further proposes to increase the minimum wage a little. What effect
would this increase in minumum wage have on employment? Does this change in gmployment
depend on the elasticity of demand, the elasticity of supply, both elasticities, or neither? Give reasons.

Would your answer in (b) change if you consider the effect of minimum wage increase on
unemployment instead of employment? Explain. 4+(1+2)+H(1+2)
Suppose a consumer consumes two goods X and Y which are perfect complements to each other.

Show what the demand curve and the Engle curve for X will look like.

Distinguish between the Hicks approach and the Slutsky approach relating to the decomposition of
price effect into income effect and substitution effect. ' (2+2)+6
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